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from tensorflow import keras
(X_train, y_train), (X_test, y_test) =
keras.datasets.mnist.load_data()
MNistt W FEEHRFDOT -9 2 RAAL

(21457 —% 60000%) [#Z+5—% 10000%)
X_train (& —9) X_test (BET—9)
y_train (EEf5~IL) y_test (EEfF5~NIL)
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import matplotlib.pyplot as plt
matplotlib®pyplott W37 S7 BT EEY 21— I EHRAAD

plt.imshow(X_train[0], cmap="'Greys')
plt.show()
X_train[0]D@EET—9 27 L—DiERTERTTS

print('IEfg5~IL', y_train[0])
y_train[0]DIEERBSNILERTTS
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X_train = X_train.reshape(60000,784)

X_test = X_test.reshape(10000,784)
EET—9228X28D2RTEHNHS5TELEFED | RTEFIIEIRTS
(X_trainld60000%, X_testid 1 0000%)

0,0,0,0,...,15,46,189, 254,...,0,0
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from sklearn.neighbors import KNeighborsClassifier
scikit-learnlE@ N5
KEEEEITIHDDEYV2—LEAVE-FTS

model = KNeighborsClassifier(n_neighbors = 5)
model.fit(X_train, y_train)
KiFfEZDK=5L LTEH%1TS
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from sklearn.metrics import accuracy_score
scikit-learnlE@ N5
ERBRERDEIL-ODDEIa—ILEAVE—MTS

y_model = model.predict(X_test)
FELEETILERAWT. X test®2 9575

accuracy_score(y_test, y_model)
FELEETLEAWEDEOEREERDS
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import cv2
EERBNDSAT IV EAVR—T5

im = cv2.imread('pic.jpg')
Fpic.jpgs €WV 774NV E5kAAL

im = cv2.resize(im,(28,28))
EREAH28X28I45L5 ICHAE (ME) 75

im = cv2.cvtColor(im, cv2.COLOR_BGR2GRAY)
BGRND3EEZ7 L—IE#T 3

im = cv2.bitwise_not(im)

BERETS

plt.imshow(im, cmap='Greys')

EBREITL—DRRTERERTS
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kekka = model.predict([im.reshape(784)])
ERT—9ETB4ERD | RTERINERLT. 25T 3
1%L EES (VARAR) ELTEY

prm’r("‘%ﬁ%ﬁ%', kekka[0])
PEEERERTTS
WRPELTELET =90 HT50T. EEZRIDEFILLT
fERIPFIOND
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